Change the Sentence
Replace the word in brackets with a word which means the opposite.

Tanya’s hair is ______. (short)

The car is ______. (new)

The chimney is ______. (clean)

The TV is ______. (on)

I can run ______. (slow)

The towel is ______.  (dry)

The clown is ______. (happy)

The lollies are ______ (hard) and ______. (sour)

The bark of the tree is ______. (smooth)

I went to the milkbar ______ (before) I went to the bank.

He has ______ (more) apples than her.

The man was ______ (short) and ______. (fat)
